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The Braisoh also teaches us this; a barrel full of wine

OVERVIEW
The X713 brings support to the ruling of 27 X 777 27,' from a Xn™72. Our  MdOIN
explains that here even >"w" agrees that the text reads 1> X7 and not 0 Xo7.

— 355 2R 5 2% RO 073 KD 2''wn an
And >''w" also does not have the text read here (in the Xn>>12) 2" X972, but
rather 9 &%, Mmoo explains why in the Xn»172 the X07°3 must be 1 -
— RNV 2D DRI 711N DR M52 191 MRP ORR I0 KD ART
For if it were not so (if the X07°) was 0’ X971 instead of 1°), what does the Xn>>12
state, ‘and similarly if it was a loaf of 2190 that fell there (where the n°an fell),
the loaf is N»w’, but how can that be -
— (7rTY) FIRMAI NhapR R Y219 on 139wnI KDY 1w [199eR] PR
For even if the water is intact and was not mixed in with the water of the o>,
nevertheless [the loaf of 77217n] will not receive IR™Y from this N°2an2w o°» even
if an XY 07X was 2210 in this water; the reason is -
— MpaY P2 27 T Capwna [T
That the n°anaw o°» became 297w through pw:, since they are attached to the
mpn waters of the 0°, which makes them 717w, N19OIN proves that 7pw: is 770N -
195725 P19 923 By vhs Tbvawn (2,70 77) 7x0a3 fan om
For this is what was taught in a X092 in 7%°2 N20»; ‘we may immerse a vessel
to purify it on account of its water’. Therefore we must conclude that it (cannot
be o, but rather it) was a 1 5w n°an where the laws of 7pwn do not apply;
therefore if an Xnav 7R was 7210 in the wine he is Xavn the wine which in turn is
Xnun the 7N Hw oo.

' See previous & 71"7 Moo that there is a dispute between *"w7 and Moo whether the ruling of 27 K 777 27
(that the 79°2v is ineffective) was by a 0’ IR%» n°an (the view of >"w7) or a 1> A9 Nan (the view of NMooN).
> See man 7"7 "
* The n"a7 Mt amends this to read, %2 M7 % 9K ax7 (instead of 177°°1°y2 [Y2°0K] ®M).
* The n"2n N amends this to read 7R 25573 0p» (instead of 71K DPN).
> apwn (literally kissing) is the process where two halachically different types of water (17711 Xab) come in contact
with each other. See previous & 11"7 '01n TIE footnote # 4.
® The w"w1 amends this to X*1n (instead of 11n).
7 See previous & 71"7 '010 TIE footnote # 7.
8 That xn°™2 teaches us that both the water and the *3 (which were Xnt) become 0 through the 7pwn process.
This proves that 7pwi alone (without being mixed into the mpn » is 17vA the D XNV o7,
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SUMMARY
The X0 in the Xn™12 is 1% 5w N an (not ), for apwn is effective to be 2 N
but not .

THINKING IT OVER

mooIN brings the Xn>72 of 1YY 01 3"y ¥ PHavn to prove the proper X073, both
in this M0N0 and in the previous (MK 71"7) N©OIN. Why would >"w1 agree to MdoIN
in this case (the Xn*72) that we are 7°> 0713, but not in the previous case (of 7717 27
17 nR) where >"wA is still 21 071227

? See X"w1mn and YW "0,
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